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Fa HH HfT 1A10H 2A6H 3H13H 47 17H 5 15H 6H5H TA11H 8H16H 9A6H 10A11H 11A6H 12/4H

Kl | Al BB W 4y 10:50 13:00 10:45 11:00 11:00 10:45 10:35 10:35 10:40 10:50 10:50 9:30
K2 A2 PRI i /Ly it L it L it L it L it L sty sty sty ety sty ety
K3 | A3 PR 5 = = it = 5 = £ 551 = I g
K4 | A KpE n 20. 11 20. 03 20. 10 20. 22 20. 64 20. 45 20. 04 20. 15 20. 11 20. 44 20. 31 20. 17
K5 @ A5 HiDE:s n’/sec 14. 29 13.27 18. 05 31.13 99. 27 62. 92 12.63 20. 42 17. 16 58. 28 37.14 20. 17
K6 | A6 ARG n 0.71 0. 61 0. 66 0.79 1. 20 0.99 0. 62 0.72 0. 67 0.98 0.82 0.70
K7 | A7 BRI n 0.14 0.12 0.13 0.16 0.24 0.20 0.12 0.14 0.13 0.20 0.16 0.14
K8 | A8 SR C -2.1 4.2 0.1 10.1 19.1 22.5 22.0 25.2 19.5 15.0 12.4 -4.0
K9 | A9 st C 0.8 2.1 1.1 6.6 10.8 16.8 20.7 26.5 21. 1 12.6 7.1 0.5
K10 = Al0 S8 (1) Yt i 3% 1 YA W GE | RO EE  RABEE RBEE | REEE | RABEE ROEal RABeE | mAaa
K11 | K11 S8 (2) g N e N g N NI gL gL gL gL gL gL
K12 | K12 S8 (3) Y — A A A A WL  WYZL | WhEL | EYZL | WLEZL —
K13 | K13 S8 (4) — — — — — — — — — — — —
K14 | Al4 R (1R I 5L I 5L I 5 I 5L I 5L I 5L BN I 5L 5L I 5L B B
K15 Al5 BHE em 21.3 85. 4 6.8 14.7 15.6 21.5 18.4 16.2 26.2 20.7 18.1 39.2
K17 | A17 T 45 — — — — — — — — — — — —
K18 = A18 T 4y — — — — — — — — — — — —
K21 | Bl pH 7.8 — — — 7.9 — — 8.0 — — 8.0 —
K22 = B2 BOD mg/1 <0.5 — — — <0.5 — — 0.7 — — <0.5 —
K24 B4 SS mg/1 27 — — — 160 — — 46 — — 29 —
K25  BS5 DO mg/1 14 — — — 12 — — 8.1 — — 12 —
K27 | B7 NI MPN/100ml | 2.4 33 — — — 4.9 %2 — — 1.1 %3 — — 4.6 %1 —
K134 | D4 k7] mg/1 0. 005 — — — 0.010 — — 0. 004 — — 0. 002 —
K242 G2 B & 51 8 140 110 150 66 55 77 21 170 66 7

K1362 X62 FEEME R RS | 8/100m] 8.5 X1 — — — 0 — — 1.0 %2 — — 1.5 %1 —






